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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Simple Interest on Rs. 5664 at 13%:—'?6 per annum

for 9 months is Rs.
(a) 600 ®) 584.10
{c) 584 (d) 684.10

Harish covers a certain distance by car driving at
70 km/hr and he returns back at the starting point
at 55 km/hr. Find his average speed for the whole
journey

(a) 61km/hr (b) 66 km/hr
(c) 61.6km/hr (d) 66.6 km/hr

o

If the rent for grazing 40 cows for 20 days is
Rs. 370 how many cows can graze for 30 days on

=1

Rs. 1117
(a) 6 b) 8
(© 5 @ 12

8 If 20 men can build a wall 112 metres long in
G days, what length of a similar wall can be built
by 25 men is 3 days?

(a) 140m (b) 448m
(¢c) 105m (d T0m
9. One tap can fill a cistern in 2 hours and another

can empty the cistern in 3 hours. How long will
they take to fill the cistern if both the taps are

opened?
(a) 5hrs (®) Ghrs
(¢} 7hrs (d) 8hrs
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L

10.

1L

12,

. !
The compound Intervat on e 2800 fur 1 - years

at 10% per annum 18

() Re 11135 (M Ra 43074

(e Rs 43l Gy Ra 420

Dilip can roap a feld im 9 dava, which Ram alone

can reap in 12 dayvs In how many days both
together, can roap this field?

(n) .‘\}; M 6 _l'
3

©) 51 Wy o8-
W |

A and IV can do a piece of work in ¢ dayw and
A alone can do it i 9 dave The tme taken by

B alone to do the work s dayn
@ 18 » 15

.
(C) 12 (d) [

Convert 45 km/hr 138 to metres /sec

() 2.5 m/see (b 1306 m/see

(© 145 w/sec (@ 12 m/sec
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Pipe A can fill a tank in 20 hours while Pipe B
alone can fill it in 30 hours and Pipe C can empty
the full tank in 40 hours. If all the pipes are
opened together, how much time will be needed to
make the tank full?

() IT;IF hrs (1 18= hrs

- | -

() 20 hrs (d  16= hrs

-1 |

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either () or (b,

(@) Rs. 800 amounts to Rs, 920 i 3 years at
simple nterest. 1 the imtervest rate s
increased by 3%, if would amount to how
much?

Or

(L) A sum amounts to Rs. 2916 in 2 years and to
Rs. 3149.28 in J years at compound interost.
What is the sum?

(n) A and B can complete a work m 10 days and
15 days respectively, A starvts the work and
after 6 davs B also jowns hun, Inall, the work
would be completed in hour many days?

Or
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13.

14.

17.

18.

by

(a)

(a)

(b)

(a)

(b)

(a)

(b)

A)s thrice ns good a works man as B and 18
therefore able to finish a picce of work in
60 days lees than B. Find the time in which

they can do it, working together.

Ram travels a certain distance of 3 km/hr
and reaches 15 min. late. If he travels at
4 km/hr, he reaches 15 min. earlier. Find the

distance he travelled.

Or

Two men start together to walk to a certain
destination, one of 3.75 km an hour and
another at 3 km an hour. The former arrives
half an hour before the letter. Find the

distance.

A contract is to be completed in 56 days and
104 men were set to work, each working

8 hours a day. After 30 days % of the work is

completed. How many additional men may
be employed, so that the work may be
completed in time, each man now working
9 hours a day?

Or
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A certain sum on compound interest
amounts to Rs. 2809 in 2 years and
Rs. 2977.54 in 3 years. Find the sum and

rate percent?

A can do a piece of work in 10 days while B
alone do it in 15 days. They work together
for 5 days and the rest of the work is done by
C in 2 days. If they get Rs. 450 for the whole
work, how should they divide the money?

Or

A and B can do a piece of work in 45 and
40 days respectively. They began the work
together, but A leaves after some days and
B finished the remaining work in 23 days.
After how many days did A leave?

A man walking at 3km/hr crosses a square
field diagonally in 2 minutes. Find the arca

of the field?
Or

The distance between two stations A and B
is 220 km. A train leaves A towards B at an
average speed of 80 km/hr. After half an
hour, another train leaves B towards A at an
average speed of 100 km/hr. Find the
distance of the point where the two trains
meet from A.
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(h)

(b)

If 17 labourers can dig a diteh 26 motres long
in 18 days, working B hours a day how many
more labourers should be engaged to dig a
similar ditch 39 metres long in 6 daya, each
labourer working 9 hours a day?

Two pipes A and B can fill a tank in 26 mun
and 45 min respectively. A waste pipe (0 can
empty the tank in 30 min. First A and B are
opened. After 7 min. C s also opened. In how
much time the tank is full?

Or

A tank can be filled by one tap in 20 minutes
and another in 25 minutes. Both the taps are
.k(.-pt open for 5 minutes and then the second
is turned off. In how many minutes more 13
the tank completely filled?

PART C — (5 # 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

16. (a) Two equal amounts of money are deposited

' 20.

(a)

®)

(b)

in two banks, each at 15% per annum, for
1
3E years and 5 years, If the difference

between their interests is Rs. 144, find the
sum?

Or
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2 men and 7 boys together complete a certain
work in 16 days while 3 men and 8 boys
together complete the same work in 12 days.
Find in how many days will 8§ men and
8 boys together, complete a work twice as big
as the previous one?

Or

A contractor employed 30 men to do a piece
of work in 38 days. After 25 days, he
employed 5 men more and the work was
finished one day earlier. How many days he
would have been behind, if he had not
employed additional men?

If two pipes function simultaneously the
reservoir will be filled in 12 hours. One pipe
fills the reservoir 10 hours faster than the
other. How many hours does the faster pipe
take to'ﬁll the reservoir?

Or

Three pipes A, B and C can fill a cistern in
6 hours. After working altogether for
2 hours, C is closed and A and B can fill it in
7 hours. Find the time taken by C alone to

fill the cistern.

B
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